## **Transfers Report**

This report contains the transfers results.

Contest Name	Ward 2 - Pentland Hills
Valid Votes	11,087
Positions to be Filled	4
Quota	2,218

## Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
Graeme BRUCE	Scottish Conservative and Unionist	2,531
Michael William CHAPPELL	Scottish Liberal Democrats	885
Richard FETTES	Scottish Family Party Pro-Family, Pro-Marriage, Pro-Life	159
Neil Thomas GARDINER	Scottish National Party (SNP)	2,360
Emma GILCHRIST	Scottish Conservative and Unionist	1,239
Fiona GLASGOW	Scottish National Party (SNP)	1,115
Stephen Philip JENKINSON	Scottish Labour Party	1,896
Ross MULLER	Scottish Green Party	870
Louis ROWLANDS	Scottish Libertarian Party	32
	Total	11,087

Candidate Graeme BRUCE Elected with 2,531 votes, being in excess of the quota of 2,218 Candidate Neil Thomas GARDINER Elected with 2,360 votes, being in excess of the quota of 2,218

## **Transfers Report**

This report contains the transfers results.

313.00000

## Stage 2 - Surplus of Graeme BRUCE

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Michael William CHAPPELL	195	0.12366	24.11370
Transfer to Richard FETTES	46	0.12366	5.68836
Transfer to Emma GILCHRIST	1,965	0.12366	242.99190
Transfer to Fiona GLASGOW	50	0.12366	6.18300
Transfer to Stephen Philip JENKINSON	119	0.12366	14.71554
Transfer to Ross MULLER	41	0.12366	5.07006
No further preference	112	0.12366	13.84992
Not transferred due to rounding			0.01654
	Total		313.00000

## **Transfers Report**

This report contains the transfers results.

# Stage 3 - Surplus of Neil Thomas GARDINER

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Michael William CHAPPELL	38	0.06016	2.28608
Transfer to Emma GILCHRIST	29	0.06016	1.74464
Transfer to Fiona GLASGOW	1,903	0.06016	114.48448
Transfer to Stephen Philip JENKINSON	107	0.06016	6.43712
Transfer to Ross MULLER	130	0.06016	7.82080
No further preference	131	0.06016	7.88096
Not transferred due to rounding			0.02240
	Total		142.00000

## **Transfers Report**

This report contains the transfers results.

## Stage 4 - Exclusion of Louis ROWLANDS

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Michael William CHAPPELL	6	1.00000	6.00000
Transfer to Richard FETTES	6	1.00000	6.00000
Transfer to Emma GILCHRIST	3	1.00000	3.00000
Transfer to Fiona GLASGOW	3	1.00000	3.00000
Transfer to Stephen Philip JENKINSON	1	1.00000	1.00000
Transfer to Ross MULLER	7	1.00000	7.00000
Transfer to Emma GILCHRIST	2	0.12366	0.24732
Transfer to Stephen Philip JENKINSON	1	0.12366	0.12366
Transfer to Michael William CHAPPELL	2	0.06016	0.12032
Transfer to Richard FETTES	1	0.06016	0.06016
No further preference	6	1.00000	6.00000
No further preference	3	0.06016	0.18048
Not transferred due to rounding			0.00000
	Total		32.73194

## **Transfers Report**

This report contains the transfers results.

## Stage 5 - Exclusion of Richard FETTES

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Michael William CHAPPELL	22	1.00000	22.00000
Transfer to Emma GILCHRIST	41	1.00000	41.00000
Transfer to Fiona GLASGOW	15	1.00000	15.00000
Transfer to Stephen Philip JENKINSON	25	1.00000	25.00000
Transfer to Ross MULLER	17	1.00000	17.00000
Transfer to Michael William CHAPPELL	5	0.12366	0.61830
Transfer to Emma GILCHRIST	28	0.12366	3.46248
Transfer to Stephen Philip JENKINSON	4	0.12366	0.49464
Transfer to Ross MULLER	5	0.12366	0.61830
Transfer to Michael William CHAPPELL	6	0.06016	0.36096
Transfer to Emma GILCHRIST	1	0.06016	0.06016
Transfer to Fiona GLASGOW	4	0.06016	0.24064
Transfer to Stephen Philip JENKINSON	1	0.06016	0.06016
Transfer to Ross MULLER	2	0.06016	0.12032
No further preference	45	1.00000	45.00000
No further preference	4	0.12366	0.49464
No further preference	3	0.06016	0.18048
Not transferred due to rounding			0.00000
	Total		171.71108

## **Transfers Report**

This report contains the transfers results.

## Stage 6 - Exclusion of Ross MULLER

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Michael William CHAPPELL	152	1.00000	152.00000
Transfer to Emma GILCHRIST	25	1.00000	25.00000
Transfer to Fiona GLASGOW	415	1.00000	415.00000
Transfer to Stephen Philip JENKINSON	210	1.00000	210.00000
Transfer to Michael William CHAPPELL	7	0.12366	0.86562
Transfer to Emma GILCHRIST	8	0.12366	0.98928
Transfer to Fiona GLASGOW	9	0.12366	1.11294
Transfer to Stephen Philip JENKINSON	3	0.12366	0.37098
Transfer to Michael William CHAPPELL	15	0.06016	0.90240
Transfer to Emma GILCHRIST	2	0.06016	0.12032
Transfer to Fiona GLASGOW	73	0.06016	4.39168
Transfer to Stephen Philip JENKINSON	11	0.06016	0.66176
No further preference	92	1.00000	92.00000
No further preference	19	0.12366	2.34954
No further preference	31	0.06016	1.86496
Not transferred due to rounding			0.00000
	Total		907.62948

## **Transfers Report**

This report contains the transfers results.

1,094.26738

## Stage 7 - Exclusion of Michael William CHAPPELL

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Emma GILCHRIST	188	1.00000	188.00000
Transfer to Fiona GLASGOW	79	1.00000	79.00000
Transfer to Stephen Philip JENKINSON	472	1.00000	472.00000
Transfer to Emma GILCHRIST	112	0.12366	13.84992
Transfer to Fiona GLASGOW	3	0.12366	0.37098
Transfer to Stephen Philip JENKINSON	40	0.12366	4.94640
Transfer to Emma GILCHRIST	5	0.06016	0.30080
Transfer to Fiona GLASGOW	24	0.06016	1.44384
Transfer to Stephen Philip JENKINSON	6	0.06016	0.36096
No further preference	326	1.00000	326.00000
No further preference	52	0.12366	6.43032
No further preference	26	0.06016	1.56416
Not transferred due to rounding			0.00000
	Total		1,094.26738

## **Transfers Report**

This report contains the transfers results.

## Stage 8 - Surplus of Stephen Philip JENKINSON

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Emma GILCHRIST	415	0.15734	65.29610
Transfer to Fiona GLASGOW	539	0.15734	84.80626
Transfer to Emma GILCHRIST	79	0.01945	1.53655
Transfer to Fiona GLASGOW	4	0.01945	0.07780
Transfer to Emma GILCHRIST	7	0.00946	0.06622
Transfer to Fiona GLASGOW	51	0.00946	0.48246
No further preference	1,650	0.15734	259.61100
No further preference	84	0.01945	1.63380
No further preference	67	0.00946	0.63382
Not transferred due to rounding			0.02721
	Total		414.17122

## **Transfers Report**

This report contains the transfers results.

## Stage 9 - Exclusion of Emma GILCHRIST

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Fiona GLASGOW	123	1.00000	123.00000
Transfer to Fiona GLASGOW	73	0.15734	11.48582
Transfer to Fiona GLASGOW	147	0.12366	18.17802
Transfer to Fiona GLASGOW	15	0.06016	0.90240
Transfer to Fiona GLASGOW	13	0.01945	0.25285
Transfer to Fiona GLASGOW	2	0.00946	0.01892
No further preference	1,373	1.00000	1,373.00000
No further preference	342	0.15734	53.81028
No further preference	1,968	0.12366	243.36288
No further preference	22	0.06016	1.32352
No further preference	66	0.01945	1.28370
No further preference	5	0.00946	0.04730
Not transferred due to rounding			0.00000
	Total		1,826.66569

## 1,826.66569